T1

Jane’s T.V.

This problem gives you the chance to:
« use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.
1. What is the height of the screen ? 27.2 / 4 h
Show how you know. |
2 2 T
22+ h =42

1024 + h" = 1764 32
h - 1764-102¢
740 ) |
AJ7¢0 2
= 272
2. What is the area of the screen? £70. & square inches / ’

20232 = 870.¢

h

"

3. Jane would like to have a screen 40 inches wide and 32 inches high. § ‘/
About what size screen will she need to buy? } inches
Show how you figured this out
2 2 2 '
40 + 32 =S ,‘
1500 + (D24 = 2614
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T2

Jane’s T.V.

This problem gives you the chance to:
« use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 3'} . a \// 4

Show how you know. h}i\m\m&

622 » f =12? _~— -
\O2\ - 10 32
RS A)‘EQ& 2

SETN
0= Y

2. What is the area of the screen? B:K'C) -\\ v square inches

DL 23 2=83Q.,

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? \2%0 X inches O
Show how you figured this out 2
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Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? A 2 . Q / 4 o

2 A+ b* =™ |
/5(3/ f’bz = ’Z/‘z—z - 32 >

2_’ 3—27-_'_}97' . 2.
42 /75/0

Show how you know.

(764~ 1024 =740 / g
2. What is the area of the screen? / 0 O. 53 square inches O
2L x T
3. Jane would like to have a screen 40 inches wide and 32 inches high. ) '
About what size screen will she need to buy? S / 2 __inches i
Show how you figured this out g
v

. 812

G,

Copyright © 2011 by Mathematics Assessment Page 10 Jane's TV
Resource Service. All rights reserved.




T4

Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 97 : 2 / 4 'Oi

Show how you know.
- <
33+ b=ud = -~
1094 + ";\’7'@9
yi 2
v

2. What is the area of the screen? <g 5 ‘qcéiluare inches O

Sy A7,25
k

1

3. Jane would like to have a screen 40 inches wide and 32 inches high. ; L\.
About what size screen will she need to buy? ’Q AL "‘" inches O
Show how you figured this out ;
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Jane’s T.V.

This problem gives you the chance to:
+ use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 2], 2@ 7 . 4

Show how you know. a = -y
- -
32
Kz V 2
5 » a
32 33t " = Y J/
2 2
42 =32 = :
X ©
2. What is the area of the screen? i FlM square inches
2 y
W2 " 1T ey o
X
3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? Qlady inches o
Show how you figured this out
2 2o A
32T +uotTe
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S1

Jane’s T.V.

This problem gives you the chance to:
+ use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? ’\F?-HO - d 4
Show how you know.

| WO e mumxom == 2

\ O\C,\c&QC& o Voricdlol. ™ 32 - o
Cor ding eaing. | = fa) 2 + & L-\ Va
He opperie and ot /
Lo U |

2. What is ‘the area of the screen? P "Z 7{-] 0 L{Ol square inches / ,

ZOAATNO

3. Jane would like to have a screen 40 inches wide and 32 inches high. _ 5 v 1
About what size screen will she need to buy? / inches v
Show how you figured this out

7 S
HO oy + 1 B = 26724
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S2

Jane’s T.V.

This problem gives you the chance to:
 use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? ya Z 2 v 4

Show how you know.

y
R-RE Moo =27 e =2
%

% ©
2. What is the area of the screen? %O 7 : square inches
3. Jane would like to have a screen 40 inches wide and 32 inches high. /
About what size screen will she need to buy? B ) inches
Show how you figured this out v
O
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S3

Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 2 7 2. NS 4 l

Show how you know.

2 2 2

32 , !
= 740 _
y
2. What is the area of the screen? g 7 Q‘é‘ square inches
3. Jane would like to have a screen 40 inches wide and 32 inches high. /’J
About what size screen will she need to buy? S inches

Show how you figured this out

. a Vs
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S4

Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? ( Xm \ ZT IZ/

Show how you know.

Lp?= 17049 -
2= (024

740y

771

«\]’\’

2. What is the area of the screen?

32

A= ’\k.\n (-1 l\

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy?

26.2)

1 4
2131, SCquuare inches

inches

Show how you figured this out
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S5

Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

. 0~

1. What is the height of the screen ? { O ' Ne 4 4 ©

Show how you know.

%} EQ; 10, } - 32 >

LCQ“C&O: bg e, =10 N\
L@ - ‘Sg e UQ\/ _ /\
2. What is the area of the screen? —Q) square inches

29 1O = DIO

Es

3. Jane would like to have a screen 40 inches wide and 32 inches high. \( ‘ ! i ' O
About what size screen will she need to buy? inches

Show how you figured this out
SO
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S6

Jane’s T.V.

This problem gives you the chance to:
« use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? bllj 4O 4 . !

Show how you know. 2 7 Z

2% (& ‘

= - 32 —

oAt b= |74

X
2. What is the area of the screen? 3 o0 square inches @
3. Jane would like to have a screen 40 inches wide and 32 inches high. / i
About what size screen will she need to buy? A o inches .
Show how you figured this out
7
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Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 27.2 J/ 4 [

Show how you know.

(1£+ bQ = CQ - >
32
374 & = 42"
A :
a - Jrou / ("
2. What is the area of the screen? / 34‘4 square inches (O

32 .42 = X

3. Jane would like to have a screen 40 inches wide and 32 inches high. {
About what size screen will she need to buy? 5 / inches
Show how you figured this out 7

20+ LO* -
T2l |

.
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S8

Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 55 N v 4 b

Show how you know.

><
4/27.# 32,{. - Cz 32 |
2,4+ 1624 = (2 1 )
(= 2088 Tiowe-52.8 of 53

2. What is the area of the screen? 129, / square inches ’ﬂ' l

2253

3. Jane would like to have a screen 40 inches wide and 32 inches high. X
About what size screen will she need to buy? “] LL inches (5
Show how you figured this out g

@ 2 Q, \2- 22 + HZ’: 2
247 +b% = 40 32+ 2 Q(SOO/ o
1024 + &= 1,00 /Oﬁ%l# 570 .
o 2¢ -0 24 : X
S Ce
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S9

Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 2 7.2 / 4 J

Show how you know.

A2 2 (
47 =32 = ko -~ 3 - ¢
2. What is the area of the screen? gj O - & square inches -
32272
3. Jane would like to have a screen 40 inches wide and 32 inches high. X O
About what size screen will she need to buy? inches

Show how you figured this out
/
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S10

Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 2 }7 N / J 4

Show how you know.

2 ? :
O +32 ':42 g -¢ = -

/l/ % yd

B )
2. What is the area of the screen? ? 10 A/ square inches {

7720 *32 o

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? 5 / 2.2 inches
Show how you figured this out of 5, /

WO*+ 3 =" S opou

ILDD + (0247 C* 262k <=5L12
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